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Operations with Polynomials

Find the product.

1) (x+9)(x-2) (x—15)(x+10)

3) (x+4)(x—20) (x=7)(x-8)

5 (o (72 5)e (3 +1)

) (x*+3)e(x*-3) (x*—5)e(x*+5)

9) (x*+2)e(3x* +1) (x*+4)e(3x*+2)

11) (x2+3x—4)o(x2—3) 12) (x2+x—2)o(x2+3)

13) (x2—2x—1)o(x2+4) 14) (x2+3x+9)o(x2+2)

15) (—xz—x+2)o(—x2—3) 16) (7x2+4x—5)o(3x3—2x2+3x+1)

(7x2 +3x—4)o(—x2 + x+1)

(x7 —axt 4 2x)(6x5 —3x* —5x)

17) 18)

(—2x4 +5x° —3x)(x5 +2x3- x) (5x —2x? +8x4)(2 +X— 4x3)

19) 20)

21) (o.o7x2 +4.3x—4.5)-(5.3x3 +2.8% +1.7)

22) (o.9x2 + 2.3x+8.7)-(5.2x3 +1.2x* +1.5)

Use the result of pert 1 to find the answer of part 2.

1) Expand: x* —(x—3)(x+3)
2) Without performing the operation, but using the result of 1), give the result of:
(5,640)° - (5,643)(5,637)

Mathelpers.com Grade 9



file:///H:/PERSONAL%20DOCUMENTS/ONGOING%20PROJECTS/0%20FEBRUARY%202022/1.1%20Book%20Website%20Project/Set%201%20Books/Group%20A/Grade%202%20Term%201/Mathelpers.com

